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~ About the length of the thread creating a regular pentagon~

frass 2y :
B The original #IA%EWSIQ Mathmatical contents
B2z e .
}ﬂg\g{%z PN ] F—J—F BE ﬁ =162F--st$ %
LiE D § RoRe M. ERARY v.v
%%i@ wﬁ«lﬂ(:%i‘g Key Words 'A \/; =507j.=gAB'"te¢6
’% 2 5};{%@ zgf@}l *The length of the thread ’ a
1%%?‘@&&%%_@’;? -Similarity ratio / ErT———
] 'Ziﬁg%" 24%] «Regular pentagon
’L'L*%:t;‘%—i:ill«z p g
Eyid bzl s+t=1627F +50F =212F
12l R .
i65% T iipe | t+5 __ jABx2 a8
L7 he i«ii:i g Moder translation (s+0+5" Llacicp+payx2 ACHCD+DA
BRH5B5R Modern translation ™~ LA \
ChHAMEmM27%—% LI 4R nbibeid 50 <F LR OE B D
%ﬁﬁ?ﬂ‘gﬁﬁiﬂgmgﬂ‘%}/?%gg =324 X A _ G
YA [ =) 5 = 7= : AC+CD+DA IF+FG+GI
OJ&%% ‘Féﬁ%étiﬁbnﬂ&b%%é = 32.4 ~F x ¢
méﬂag—’ﬁ?:j‘##—ﬁli)ﬁmmu%bi T XS24+ IF=AF, GI=GC &Y
%) ozk%:%tit%uif’%mé)ﬁf# = FG FG FG FG F
LD SR SEREETR S F 2 = . ., I
e Iy & L I S IF+FG+GI AF+FG+GC AC 324+
Z Ak c‘:ég")” O)HX‘T ° L. 32.4Fxs0 <t
DG LS i B2TwA N 22X~ 7.64150 -
%%{i”‘;&% 3 5; \,%ﬂ‘g N 162 < +50 <
b2 V)‘ §J‘: bN ’ %IJ#’: D= ~ 7.64 AT =4I TR
2 C [ " £ O 3‘ > k= — ~F OB
£ o Wil pLh S ARA B CFAMUE 1k ox —F oo ERABOHARS
ﬁ 4 W (‘7 E{f% VAL D 3 S - D 3 1~6FH LY HOE&162: 0% 7.645F % E xR -5
ﬁﬂ)%éﬁ/%éﬂ% HToAHER S HIRHLOOT 162 5t 1 7.6457=100<F : x5+ $151E1%
R A S 5 162x = 764 ChERBLTREAMIT
g 5 h¥ P x=4716049.. AL BELABIC2D
HN (). NEx ) ~ 4717  Ewscss.

P B, TR
FEEEER English version @

HL=ES ; i
The length of the thread is 14 gevaku gsun, K58k English version
I make a star with this thread . To know one side of pentagon th 12 io _ cun
length in the seimeiban inside , diagonal(3syaku 2sun After7 hnesi 179 =100
4b)multiplied by 5aku, Tt divided 1zvou gsvaku 2sun gnd added to From 1th~6thlines The length of the thread 7.645u2 for 162su#
5wvaku Then it is 752265 47in other words Because the ratio is equal. 1gsun : 7 gasun = 1ggsun ; ysun
212method of the division 162x =764
4717method of the multiplication x=4.716049 ...
Per 1#7u in length of the thread ,one side of the pentagon of 4.717sun= gsun7bu rinJmou ~ 4717
the inside becomes 4sun 7bu 1xi7mou jn gddition , it is 2svaku The length of the thread affected by a

when I divide the rope of 1#°¢into 5 when I make a pentagon.
I avoid this center 4sun 7bu2rin ysing 5 ropes , I make a
seimeisei to contact with both sides, the internal thing which

diagonal line of an equilateral pentagon.
Using this,when it’s put , it’s in the inside and

I made becomes the pentagon . And the outside becomes the outside. . . )
pentagon , t0o. G (), N Bk You can have a figure with 2 equilateral
: pentagons. 151 % (#%)
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Summar Because we did not understand the meaning of words ﬁvﬁ?;jé‘[“tbl\" ight ke fi .
Y in the case of living language reason to the small € found peoplé might make figure using ZE . BRE BEF Author:
place, we check words in the Edo period and want to thread and had calculated using similarity in Mashio, Tokiharu

be able to completely translate it. Edo period.

g BN EEDOZRLDILR T, MD#2 Hi% | didn’t know the meaning of words first , but we thought that it
{HEoOTVBDTIIRVDPEE, HANEIZT N A0 may use the way of thinking of the resemblance. It was revealed
Impression N TWVWAE% % BLDOUDOEREITEITES W=, ZD that consistency matched when | thought that a “shaku” was

FEIRDG, TR RO N B s R RIZL T T, omitted at a certain position, from the result, the people of the
FIEHLNE T, Edo era makes it a simple calculating formula and | thought that it
fhDFIHDORELLHERTENE ST, was splendid. | want to know other “wasann” more.
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